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The candidate has misinterpreted the question and provided answers that are not
related to the sponsor. No marks were given.

The candidates were asked to explain one advantage and one disadvantage of sponsorship for commercial sponsors. This was key to the question. Many candidates explained the
advantages/disadvantages of sponsorship to either the sport or performers, which was not
credited. This again highlighted the need to read questions carefully.

Write the question in your books and complete.
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